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¥  4X6+2X6 = (4+2)X6 = 6X6 |=| 36

D 2X4+6X4 = = =

@ 40X 34+50X 3 = — —

@ 2X3+3X3 = = =

® 30Xx9+60x9 = = =

® Tx4+2x4 = = =

@ 4xX7+6x7 = = =

@ 50xXx2+4+20%x2 = = =
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*  4x6+2X6 = (4+2)%X6 = 6x6 |=| 36
O 2x4+6x4 = (2+6)X4 = 8x4 |= 32
@ 40Xx3+50%x3 = (40+50) %X 3 =/ 90x3 |=| 270
@ 7X5+3x5 = (7+3)X5 = 10x5 |=] 50
® 2x3+3x3 = (2+3)%x3 =l 5x3 |=| 15
® 30x9+60x9 = (30+60)x9 |=| 90x9 |=| 810
® 30x7+40x7 = | (30+40)%x7 |=| 70x7 |= 490
@ 5x8+3x8 = (5+3)X%x8 = 8X8 |=| 64
TX4+2X4 = (7T+2)%x4 = 9x4 |=| 36
@ 4x7T+6x7 = (4+6)%x17 = 10x7 |=| 170
50X2+20%X2 = (50+20)X%x2 = 70x2 |=| 140




